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Class V maths Assignment
Q.1 Fill in the blanks with > or < or =
a)1,92,255 __ 1,92,265
b) 1,00,000 + 20 ___1,00,200
c) Five lakh ten ___ 5010

Q.2 Fill in the blanks

a) 1 crore = lakh
b) 1 million = thousands.
c) 10 lakh = thousands

Q.3 Write in standard form as per Indian place value system
a) 5,00,000 +50 +5 +
b) Twenty lakh eighty thousand twelve =

c¢) Four more than 1 lakh =

d) 1 less than greatest 5-digit number =

Q4 Arrange in ascending order:



a)1,21,557, 15,21,557, 15,51,221
b) 110000, 10,01,000, 1,00,011
Q.5 What number should be added to 495 to get 565?
Q.6 From what can you take away 128 to leave 318?
Q.7 The sum of two numbers is 5000. If one number is 2500. What is the other number?

Q.8 945 bags of cement are needed to build a house. How many bags of cement are needed to
build 1535 such houses?

Q.9 65,638 spectators came to attend the finals of a football tournament. If the maximum
capacity of the stadium is 75,000. How many more people can be seated?

Q.10 Agrocer received 23,781 bags of rice, 62,930 bags of sugar and 40,869 bags of wheat. How
many bags did he receive in all?
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Home Assighment
Class V Science/Evs
Chapter 1 - Our Skeletal System
Fill in the blanks.
The skeletal system is made up of ....................

In our body, there are ................. bones.

The skeletal system protects the ....................... organs in our body.
Bones that form our skull protect the .......ccocoeeiiiiiiill

Bones cannot move on their own. They need ............... muscles to help

them move.
Explain one major functions of the skeletal system.
What is skeletal system?

Draw a neat diagram of the human skeletal system and name each
part of the human skeletal system. (page 3)

Write the function of vertebral column.

What would have happened had our backbones been made up of fixed
long bones without any linkages in between?

Write a short note on ‘femur’.

Match the following.

Column A Column B
I am the main axis of the Rib
skeleton
Il am made up of flat, hard and Arm
strong bones
|l am joined to the breastbone Vertebral column
and backbone
|l am joined to the spine by the skull
shoulder girdle

What is ligament?

Q10. Draw a neat diagram showing the ligament of human body. (page 7)
Q11. Write T for true of F for False.

Joints help bones move in different directions.

A hinge joint can move in many directions.

A pivot joint helps our head move only back and forth.

The bones connected to joints can move smoothly because of a fluid,
which acts like lubricant.
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SUMMER VACATION ASSIGNMENT
COMPUTER SCIENCE
CLASS-V

Chapter 1 - Evolution of Computer
Q1 - Explain the following :

a) Abacus

b) Pascaline Calculator
Q2 - Write the features of First Generation Computer.
Q3 - Write the full form of UNIVAC and ENIAC.
Q4 - Explain any three types of microcomputers.

Q5 - Explain the four types of computers.

Q6 - Write any three limitations of computer.



